THSFIA W RESRSE

ZEEREEREERESEMOEFTHAEENRR (FM3F10ARERE)

1 IWERDORBEES 2 REEGERAERAERMORBEN
B | wE | BF | E | BF

SH3EF 2,536 19 [ 2,964 FH3EF 562 5| 657
SN2 2,651 24| 3187 FH2%F 610 7] 746
iE. i -115 -5 | -223 i% e -48 -2 -89

B R K -43| -208| -7.0 B B E -7.9| -286| -11.9
ML B ﬁasu soswnE] 222| 263] 222

D $Eﬁl1¢§i%(i i"t §E1E$¥FE$H-0)1¢§SZ’C&U X
LEEIREEE GER) ERICMBELTOEWEERD

HHEEHFET,
3 TEEREREETSEFMOBEIHOELEHS
(1) BXEFOFREMAFEERT EEMAZEREZRQ (2) FLHEWERBFEEIKR
% £ 3t = e | %HE
SHIE|[ 24| BRE | FFSE|SH25F| BRI # =t 562 5
#® =t 562 610 | -7.9 5 7] -286 g B £ & 26
it 300 326 | -80 2 3| -333 BT R & 15 1
#t I ®| 201 217 -7.4 1 2 -500 2 = R E
0 T 21 24| -125 B i L 3
x = 34 36| -56 1 HE-ERATE 27
E T 44 49| -102 1-100.0 BEETHE 47
it 68 72| -56 2 3] -333 S1TEBE 26 2
& | W 41 40 25 2 [-100.0 — B AR EIE 54
i |[BfER 5 8| -375 1 1 0.0 RERTEHET 38
O 22 24| -83 1 BB L
it 106 115 -7.8 1 0 B B %
E [E W 5 5 0.0 1 R 40
N B H 47 58| -19.0 oy BIATREE 99 1
£ m 54 52 3.8 PEL: Iy L EEx 88
it 88 97| -93 0 11-100.0 &5 RETHESE 30
= |[E 3 20 14 429 ER 7242 EE 29
E‘g = 6 5| 200 1] =1000 7 0 19
o B 14 25| -440 0O hE R 21 1
* R 48 53| -94 (AR EEEEr 1
(AR ERF
O REEEEFERICKDIENH54.3%
O EEERICKDEMM1HRE
(3) FAHBITHMRFEEIKR S S
he 4= k P j -~ P A k * j x N
BITER i | wE R | RE BITER HE | wE EE | RE
7’ =t 562 5 341 2| & B 11 9
= ¥ & 124 1 77 B 7] 91 1 53
H ) 125 80 5 ] 24 10
B 1t 85 1 51 1| & i} 22 1 16 1
PR L 12 10 & B 10 2
K347 14 7 F 0 i 44 1 26

O #£#Hdh. HE), B4 T594% O XERTOEHRMNLHED60.7%
O ZHBENTIHEMITOERNRS !

CCICEFE! ! (ChETORERRELND)
M

O 1281%1 @T%%mﬂw%éﬁ@wﬂ W20 £9, BICHEREL 2D
WHDBIRFEN O IED, 1TRRIC ICELTWET,

O FIANR—Z [FRABENPLD~Y I\“?% I\,.“kTJ R A B A DORBR) 2275 |
WCED, BB TEICEREL, Z2ER2 LM EITELE S,

sH3EE “‘REERSN - FEOZANHELEREIRM”

KR 128118 () ~12820H (A) B\ REEST &
[EHNER] 1 BE-EREKEEEORR /ogo VBV

2 TSYIFARN—UOBEERETORYYTERIHIE /(W SEEL)

3 SEIAEILDRESITEEHRL ‘uemnsaess ) Bl




